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Divertimento - 3. Diminuendo (cello)
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Divertimento - 3. Diminuendo (cello)
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Divertimento - 3. Diminuendo (cello)
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Divertimento - 3. Diminuendo (cello)

223 arco

~¢$\
|
¢
TTTe
¢
e
¢

TT7e
$T
=169
hi

arco

1 1 1 S Py
Co—rs T T T a4 ® © ®
:g’;
O d (@) i O i O h O ﬁ
— — —— p—— —
T T

1 1 1
O T T | — —— =
ﬁ. I I DO 4 O 4 O 4:

P=Y = P=Y = P=y = P=Y = P=y P

@ S @ L e @ S @ S @

—— ==

O (@] O (@]

o]
1T
oo}
TTe®
oo
1T
oo}

TTee
¢

\C
I




10

Divertimento - 3. Diminuendo (cello)

it o[
C|h G| v CIh
- P
i} )
v il v
0 --Maﬁﬁ el b
P ~t ~u| e ||Mld\ 7 iv
1N 2 v v
0 |\.. \ -Nm c/ \3/ P
, un
(| YR (10 & TNT® TTe TTTe e
o A\c o 2 c,v \ue,v _ov
1
[ | YR h:i!u #A-v jv TT11 iu
o 98 419, hk _ov
[ [ 10 ’.—ilu |r!=\ ru 1T iv
i Sl il I | oS!
5 8 o e e )

pollice capotasto
(thumb position)

239

[ 1N >n.wn!
TN
RN JM TTTe
H S
il ,W
Sy
= TN
BN
)
g
o — T
ST 2 e |
o | i
=T L
=
| e ' Tl '
H#I’ l'
Q| [ JNRR
ALY ATy
TN TN
' H ' e '
T TT™
I »
Q| [ JERR
Ly LWLy
TN 1 TN 1
' T 1HiL)
A s A e
S, N g .vv
e o ),

e N
L)
Iy Il
e T
| L)
T T
)
Ii.5 L
M N
)
T T
1t
1 s
ol N&LL
m
TR T
o
AL i
e Al
NS/ )

*
T AL
Lw
i v
")

T T

1l )

e T
i oy
TTTe AL

A w
T
TN TTTe

LHH.

T

IIMW III'

N &)




J/

< e
L. Y
E 2 J e

Y
v
"=

L. ™Y

—

L. Y
F -

vy

o

-
-

1

(&)

sul Re
()
| I

Divertimento - 3. Diminuendo (cello)

[
- e

IR

Y

#
F - J

o

1 d | — 1
-
i F - d e
[#)
arco
1. 2.
- -
L

~

i

5 soli

Loy

D —

-
e )

248
—

251
257
260
265

1

L.
=

"=

L - d e

-
P2
Y

- ™

o=

i

L.

269
273



12
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Divertimento - 3.

Diminuendo (cello)
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